LT4—R&Y =7 (A-BRI)

ADSR HDCP 0~16
2024 4858
JIEAZ K4 OUT IN 18H HD NET
1+BG ;e iE 37 37 74 9 65
2 HAR BiR 39 36 75 8 67
3 KH % 39 39 78 11 67
4 Al FhE 37 38 75 8 67
5 WL EZE 39 43 82 15 67
6 PR ] 39 38 77 8 69
7 RE #71 41 40 81 12 69
8 HAT 5L 41 38 79 9 70
9 HH FR 42 44 86 16 70
10 (L] HeBA 37 38 75 4 71
11 TR 40 39 79 7 72
12 ZJ 42 44 86 14 72
13 H 5 41 45 86 14 72
14 [ 5 e ] 40 43 83 10 73
15 LA Jell] — 42 42 84 10 74
16 EIR 515 41 43 84 10 74
17 HA 45 47 36 83 8 75
18 iy 52 46 39 85 10 75
19 T R 44 44 88 13 75
20 ERI FIk 41 40 81 6 75
21 Pei =0 45 46 91 15 76
22 RE w5 43 44 87 10 77
23 A IER 41 44 85 7 78
24 M- K 43 45 88 9 79
25 ER FR 45 50 95 16 79
26 A & 43 47 90 10 80
27 Pef mE 52 43 95 12 83
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LT4—R&Y =7 (A-BRI)

BYSX HDCP 17~40
2024 4858
JIEAL K4 OUT IN 18H HD NET
1 AN 39 39 78 18 60
2 Aeks 5 40 43 83 21 62
3 HEE HE 45 44 89 24 65
4 K% ol 48 41 89 20 69
5 H Ff 45 41 86 17 69
6 B JEHE 47 42 89 20 69
7 = B2 43 49 92 23 69
8 b5 B 43 45 88 17 71
9 A BHEA 43 46 89 18 71
10 WRE & 50 41 91 18 73
11 H B ok 48 46 94 21 73
12 S LS 51 53 104 31 73
13 AT e 54 47 101 27 74
14 Bkt 56 41 97 22 75
15 A £ A1 50 45 95 20 75
16 HH ET 53 50 103 28 75
17 sLHP A 45 50 95 19 76
18 /NPT 52 44 96 19 77
19 (EEENE L 55 54 109 30 79
20 W28 ot =R 52 48 100 19 81
21 BN B 49 53 102 21 81
22 HAR 1H3C 56 53 109 27 82
23 il A% 50 55 105 20 85
24 A= PRAE] 56 61 117 32 85
25 VTR 75 55 62 117 25 92
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